| AMENDMENT OF SOLICITATIO   | N/MODIFICATION C  | F CONTRACT   | 1. CONTRACT ID CC  | DE   | PAGE                   | OF PAGES       |
|--|---|--|--|--|------------------------|----------------|
| 2. AMENDMENT/MODIFICATION NUMBER<br>P00019   | 3. EFFECTIVE DATE<br>See Block 16C  | 4. REQUISITION/PURCHASE REQUISITION NUMBER 5. PROJECT NUMBER (If applicate   |  |  |                        |                |
| 6. ISSUED BY CODE  | SP0600  | 7. ADMINISTERED BY (I  | f other than Item 6)   | CODE   |                        |                |
| Defense Logistics Agency<br>DLA Energy-FEE (Utility Services Division)<br>8725 JOHN J. KINGMAN ROAD<br>FT. BELVOIR, VA 22060-6222<br>BUYER/SYMBOL: Francesca Turzi/DLA En<br>EMAIL: francesca.turzi@dla.mil/Phone (571 | nergy-FEEBB   |  |  |  |                        |                |
| 8. NAME AND ADDRESS OF CONTRACTOR (Number, sa  | /   |  | (X) 9A. AMENDMEI   | NT OF SOLICI   | TATION I               | NUMBER         |
| HARDIN COUNTY WATER DISTRICT NO<br>1400 ROGERSVILLE RD<br>RADCLIFF KY 40160-9343<br>UEI: LE2BL71N8LQ3<br>CAGE CODE: 316V9<br>CODE  | D. 1<br>FACILITY CODE   | ]  | 9B. DATED (SEI<br>10A. MODIFICA<br>10B. DATED (SE  | TION OF CON<br>SP0600-23                                       | -C-8354                |                |
| 11. THIS IT  | EM ONLY APPLIES TO  | AMENDMENTS OF S  |  |  |                        |                |
|  | E DESIGNATED FOR THE REC<br>endment you desire to change an<br>nication makes reference to the s<br>guired)<br>iation Data<br>APPLIES ONLY TO MO<br>THE CONTRACT/ORDE | EIPT OF OFFERS PRIOR TO<br>n offer already submitted, such<br>solicitation and this amendme<br>DIFICATIONS OF CO<br>R NUMBER AS DESC | D THE HOUR AND DAT<br>n change may be made<br>nt, and is received prior<br>DNTRACTS/ORDE<br>RIBED IN ITEM 14 | E SPECIFIED<br>by letter or ele<br>to the opening<br>RS.<br>4. | ectronic<br>) hour and | date           |
| B. THE ABOVE NUMBERED CONTRAC<br>appropriation data, etc.) SET FORTH I   |   | EFLECT THE ADMINISTRATIVE CHANGES <i>(such as changes in paying office,</i><br>HE AUTHORITY OF FAR 43.103(b).                        |  |  |                        |                |
| C. THIS SUPPLEMENTAL AGREEMENT   | C. THIS SUPPLEMENTAL AGREEMENT IS ENTERED INTO PURSUANT TO AUTHORITY OF:  |  |  |  |                        |                |
| D. OTHER (Specify type of modification a<br>Adding Funding required per cor  |   | d by 10 U.S.C § 2688   |  |  |                        |                |
| E. IMPORTANT: Contractor 🛛 is not 🗌 i  | s required to sign this do  | cument and return <u>0</u> co  | pies to the issuing  | office.  |                        |                |
| v  | nox, KY Utility Priva<br>Nastewater/Stormw<br>ee Additional Pages for<br>document referenced in Item 9A   | atization Contract<br>rater System<br>r Further Details.<br>or 10A, as heretofore change<br>16A. NAME AND TITLE OF                   | ed, remains unchanged  | and in full forc<br>ICER (Type or p<br>TONE                    | e and effe             | ct.            |
| 15D. CONTDACTOD/OFFEDOD  | 15C. DATE SIGNED  | 16B. UNITED STATES OF A  |  | IRE(   | <b>JEI</b>             | VED            |
| 15B. CONTRACTOR/OFFEROR  | IJU. DATE SIGNED  | IVD. UNITED STATES OF A  | MENICA   |  | 10 <del>,</del> D      | ALE SIGNED     |
| (Signature of person authorized to sign)   | ——  | (Signature of  | of Contracting Officer)  |  | 5/ <mark>9/20</mark>   | <b>2,5</b> 025 |

STANDARD FORM 30 (REVC) 1/2016) Prescribed by GSA FAR (48 CFR) 53.24

PUBLIC SERVICE

## A. The purpose of this modification is as follows:

- 1. Obligate \$276,121.69 of funding for the April 2025 Monthly Utility Service Charge (MUSC), as follows:
  - a. CLIN 2010, add funding in the amount of \$235,819.44 under ACRN AF
  - b. CLIN 2011, add funding in the amount of \$39,816.00 under ACRN AF
  - c. CLIN 2012, add funding in the amount of \$486.25 under ACRN AF
- 2. Update Section G.2, Submission and Payment of Invoices, to obligate funding in the amount of \$276,121.69.
- **B.** Schedule B-2, Utility Service Payment by the Government, is hereby updated as follows (changes in red):



| CLIN | Description  | Quantity | Unit | Unit Cost    | Total               |
|------|--|----------|------|--------------|---------------------|
| 2001 | Contract Year 20 Wastewater Collection<br>System Base Fixed Monthly Charge for Fiscal  | 3        | MO   | \$235,819.44 | \$707,458.32        |
|      | Year 2024<br>Period of Performance: 01 July 2024 – 30<br>September 2024  |          |      |              |                     |
|      | AČRN AC \$707,458.32   |          |      |              |                     |
| 2002 | Contract Year 20 Stormwater Collection<br>System Base Fixed Monthly Charge for Fiscal<br>Year 24<br>Period of Performance: 01 July 2024 – 30<br>September 2024<br>ACRN AC \$119,448.00 | 3        | МО   | \$39,816.00  | \$119,448.00        |
| 2003 | Contract Year 20 Cyber Security Charge for<br>Fiscal Year 24<br>Period of Performance: 01 July 2024 – 30<br>September 2024<br>ACRN AC \$1,458.75                                       | 3        | МО   | \$486.25     | \$1,458.75          |
| 2004 | Contract Year 20 Wastewater Collection<br>System Base Fixed Monthly Charge for Fiscal<br>Year 25<br>Period of Performance: 01 October 2024 – 30<br>June 2025<br>ACRN AD \$707,458.32   | 3        | МО   | \$235,819.44 | \$707,458.32        |
| 2005 | Contract Year 20 Stormwater Collection<br>System Base Fixed Monthly Charge for Fiscal<br>Year 25<br>Period of Performance: 01 October 2024 – 30<br>June 2025<br>ACRN AD \$119,448.00   | 3        | MO   | \$39,816.00  | \$119,448.00        |
| 2006 | Contract Year 20 Cyber Security Charge for<br>Fiscal Year 25<br>Period of Performance: 01 October 2024 – 30<br>June 2025<br>ACRN AD \$1,458.75   | 3        | МО   | \$486.25     | \$1,458.75          |
| 2007 | Contract Year 20 Wastewater Collection<br>System Base Fixed Monthly Charge for Fiscal<br>Year 25<br>Period of Performance: 01 January 2025 – 31<br>January 2025                        | 1        | МО   | \$235,819.44 | \$235,819.44        |
|      | ACRN AE \$235,819.44   |          |      | R            | ECEIVE              |
|      |  |          | 1    | ·            | <del>5/9/2025</del> |

PUBLIC SERVICE COMMISSION OF KENTUCKY

| 2008 | Contract Year 20 Stormwater Collection<br>System Base Fixed Monthly Charge for Fiscal<br>Year 25<br>Period of Performance: 01 January 2025 – 31<br>January 2025<br>ACRN AE \$39,816.00 | 1 | Мо | \$39,816.00  | \$39,816.00    |
|------|--|---|----|--------------|----------------|
| 2009 | Contract Year 20 Cyber Security Charge for<br>Fiscal Year 25<br>Period of Performance: 01 January 2025 – 31<br>January 2025<br>ACRN AE \$486.25  | 1 | Мо | \$486.25     | \$486.25       |
| 2010 | Contract Year 20 Wastewater Collection<br>System Base Fixed Monthly Charge for<br>Fiscal Year 25<br>Period of Performance: 01 February 2025 –<br>30 June 2025<br>ACRN AF \$707,458.32  | 5 | Мо | \$235,819.44 | \$1,179,097.20 |
| 2011 | Contract Year 20 Stormwater Collection<br>System Base Fixed Monthly Charge for<br>Fiscal Year 25<br>Period of Performance: 01 January 2025 –<br>30 June 2025<br>ACRN AF \$119,448.00   | 5 | Мо | \$39,816.00  | \$199,080.00   |
| 2012 | Contract Year 20 Cyber Security Charge<br>for Fiscal Year 25<br>Period of Performance: 01 January 2025 –<br>30 June 2025<br>ACRN AF \$1,458.75   | 5 | Мо | \$486.25     | \$2,431.25     |



C. Section G.2, Submission and Payment of Invoices, Accounting and Appropriation Data is hereby updated:

ACRN AF adds funding from MIPR 12208524 Amend 1 in the amount of \$276,121.69 as provided by the Army:

02120252025 2020000 A60TE 131079QUTS 2540 0012208524 S.0070014.22.6 021001

## A funding breakdown of ACRN AF is provided as follows:

|                           | Basic     | \$552,243.38 |
|---------------------------|-----------|--------------|
|                           | Amend 1   | \$276,121.69 |
| Funding Breakdown         |           |              |
| Funding for contract      | CLIN 2010 | \$707,458.32 |
|                           | CLIN 2011 | \$119,448.00 |
|                           | CLIN 2012 | \$1,458.75   |
| Total Funding for ACRN AF |           | \$828,365.07 |
| Funds Remaining           |           | \$0.00       |
|                           |           |              |

**D.** The total obligation value increases by \$276,121.69 from \$77,798,912.40 to \$78,075,034.09.

**E.** The total estimated contract value remains the same at \$79,826,008.06.

F. All other Terms and Conditions of this contract remain unchanged and in full force and effect.

## **END OF MODIFICATION**

